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NUMBER SEARCH PUZZLE A7

e Each of the numbers goes either horizontally from left to right (=), or

vertically downwards ({1 ).

e Can you spot all of the numbers in the grid?

J[ 412|405 |2|7|3|6]|4]1

6 oo 3|7 |0|ls5|alo|3|s5]3

5 (4|1|9|3|7]|9|9|5|8|]0]|7

4 12|3|2|9|o0o|6|0|5|1]|8]09

9|9 |8|o|2|1|4|1|8|0]|5]3

715|152 |5|5|4|6|3]|]6]|0

7103 |2|5|3|1|5|3|7]|8]7

s|6|8[3|9|2]0|a|7|1]|3]|6

7157 |4|s5|0o]|2|3|6|6]|5]7

8|6 |2|5|5|2|8|o|5|8]1]1

3103|923 |2]|2|0]1]S38

113(3|4|6|2|7|8|0]|2|8]4
16549 37930 63810 80214
19379 42405 67184 85683
25964 45023 68392 90145
27802 52345 75152 92322
32531 57831 76520 95586

4
5

b E Free Mathsheets, Math games and Math help

TH-SALAMANPERS.COM




Name Date
NUMBER SEARCH PUZZLE A7 ANSWERS
1[ A>T+ —o15| 1| 7|3 |§¢| 4|1
¢ 9 (9| 3|7 |0 5% |49 3|53
a3 1| P b |30
4123|2910 % D | % 219
9 | 9| 81+H81+21= b AENAERE
5T+ T5F1+2| 5| 5| f 45 3060
7/0|3t341+513+—=+| 5| 3|7| 8|7
t |18 T1T3FT95—=>|0| 4 T 1| 31| 6
115]| 7 | 44—-51—-1+213 + 6 |51
$ 6|29 |5|2|8|o0|§|8|1
3|1|0|3|9+=2>+3+2>+3+|0]| 1] &
3|3|4|6|2t+F+81+H+2>|8]|4
16549 37930 63810 80214
19379 42405 67184 85683
25964 45023 68392 90145
27802 52345 75152 92322
32531 57831 76520 95586
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